7.2.5 PBERAFLMIMRBTT




BT A 3 B — 25000 25 35 1 55

it IR
w1t iz K
Ui &
I\ B I8 PR

7.2.5

£557.2 Wt SMRE R

L =76.00m
B=12.50m
D= 5.40m
d= 4.50m
C,=0.789
S =0.60m

WA B SR BT

1
AL




1H£57.2 B 5HR

R mEm

(2) FZm R G B R 2T, AR 0. 4L XIS MR BB ¢ BEA/NT T iR e

OFEFZ (172) D VLB, AN

TR

£, =0. 06s
t, =4.

(L+110)m ( mm)
2s /d+h, (mm)

QEEFL(1/4) D LUT IS, MA/NFIE ORI ZE

t, =0. 06s(

L+110) «/ﬁ ( mm)

t, =5.4s /(d +h)F, (mm)

@FE R4 (1/4) DULEF] (1/2) DA FXIERN, HREH

SEGRFNCED

725  HERAEMIMR T




572 BIHMRS R
OBERZE (1/2) D UL BB AN TIE T AR g2 E
t, =0.06s(L +110) ,/F, (mm)
t,=4.2s \/d+h, (mm)
QHFEZ (1/4)D DUFE , MA/NTH T AITE R ZE
t, =0.06s(L +110) /F, (mm)
t, =5.4s ./(d+h,)F, (mm)

NH: s-o6216m. L= 76m

BB E EEE , m, 3+ F 0, BUR/NT(0.001 6L +0.5) m
K, m, HAS KT 200 m;

S = 0.6Um
0.0016L +0.5=0.0016*76+0.5=0.6216

725  HERAEMIMR T

S

L




H£557.2 Bt E R
OBERZE (1/2) D UL BB AN TIE T AR g2 E
t, =0.06s(L+110) ,/F, (mm)
t,=4.2s \/d+h, (mm)
QHERLE(1/74)D LUFES , MA/NTHE F GRS ZE
t, =0.06s(L +110) /F, (mm)
t, =5.4s ./(d+h,)F, (mm)

N s-o6216m. L= 76m, d=4sm, o= R=1
e et e L

d—IWzK,m;  F ﬁ[?:] og— AL 75 g 7, N/mm's
F=20 ﬂb—JE‘%’ﬁ[’f{IEﬂ?"jﬁHWj}, N/mm’;

— R R i L
725  HERAEMIMR T



H£557.2 BitAMR S HR
OBEEFL (172) D UL LB, AN PR EZE
t, =0.06s(L+110) ,/F, (mm)
t,=4.25 /d+h, (mm)
QHELZ (1/4)D LUFES, WA/NTHE F TR sz E
t, =0.06s(L+110) /F, (mm)
t, =5.4s ./(d+h,)F, (mm)

NH: s-=oe216m, L= 76m. d=asm.  Te=L =1

h, =1.62 h, =0.5C,ITHE , BURN KT 0. 364;
C=0.0412L+4=0.0412x76+4=7.1312

h, =0.5C = 0.5x7.1312 = 3.566
0.36d =0.36x4.5=1.62

725  HERAEMIMR T




H£557.2 BitAMR S HR
OBEEFL (172) D UL LB, AN PR EZE
t, =0.06s(L+110) ,/F, (mm)
t,=4.25 /d+h, (mm)
QHELZ (1/4)D LUFES, WA/NTHE F TR sz E
t, =0.06s(L+110) /F, (mm)
t, =5.4s ./(d+h))F, (mm)

hl—hl =0.26C ,i_l‘ﬁﬁﬂ‘fiij(:

- 0. 26d

h,=162 h =117
C =0.0412L +4=0.0412x76+4 =7.1312

h, =0.26C =0.26x7.1312=1.854
0.26d =0.26x4.5=1.17

725  HERAEMIMR T




H£557.2 Bt E R
OBEEFL (172) D UL LB, AN PR EZE
t, =0.06s(L+110) ,/F, (mm)
t,=4.25 /d+h, (mm)
QHELZ (1/4)D LUFES, WA/NTHE F TR sz E
t, =0.06s(L+110) /F, (mm)
t, =5.4s ./(d+h,)F, (mm)

\H: s-oe216m, L= 76m. = asm o=l R=l
h, =162 h =117

725  HERAEMIMR T




£557.2 iSRS R

OEEFL(172) D VBB, AN TR ZH
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